/ GPS Geometry

Exam Review Sheet #2 uj/
, —

What you need
to know & be
able to do

Things to remember

Find the measure

1. Find mMN

10°

2. Find mQNR

290°

if the angle is
inside the circle

of arcs from Angle = Arc —
central angles. 3.Find mMR l
\ lo°
~a o
£ 4. Find mPRN o
6. Find mCD
> 519 ‘
Find the measure . Afc
of arcs and angles —
with inscribed Ang le =
angles
8o
dfmz2
@°
131°
Find the measure
ofarcs and angles Angle = Arc + Arc

11. Find1 &2
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Find the measure
of arcs and angles

Big Arc — Small Arc

Angle =

13. Find 1.

if the angle is .
outside the circle.
70°
M7= 2N.g°
17. The area of a circle is 31.4 18. Find the area of a circle with a
cm?, What is the radius? diameter of 22 inches.
Find the area of _ 2 - r.?— =1\
circles Area - 7Z-r 3\ ‘A i ( \‘L '
W= 121t = 380.13
=2 \0 Ll e
19. Find the area of the shaded 20. The area of the sector is 6.6

Find the area of
sectors

AI’C. - Asector
360  zr?

region

};‘WL‘J"(\D@

yd2. Find the area of the whole
circle.

Find the
circumference of
circles

Circumference = 2xr
Circumference = =d

21. Find the circumference of a
circle with a radius of 8 m.

C > 2w(B): \un=
=0, 27

Arc _ Arc Length

23. Find the arc length of ZE

W Zelia)

22. The circumference of a circle
is 25.12 ft. What is the radius?

2«6 N5 7.‘“(\ r=

24. The arc length of Y\\’ is 3.44
cm. Find the radius.

Find arc lengths 360 5
zr
B LB £k
E————
25. A birthday cake is sliced into 8 equal 26. Awall clo
pieces. The arc length of one piece of cake is
6.28 inches, as shown. Find the diameter of the | the sector formed whe )
Word Problems A

cake.

the diameter of the clock. Then find the area of

ck has an area of 452.39 in2. Find

————

(Vo
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Extra Practice Problems:

1. Find the area and circumference of a circle
with a diameter of 12 ft.

=l
C =2 (L)

A= ‘“L\D\"
=\w e =30 S

2. Find the area and circumference of a circle
with a diameter of 227 cm.

=\t |

C= 21\'(\\-@

- 22wt

R =\S065).
= 2\ \3 ¢~ —_—

Y- "W(Zz""z

3. Find the area and circumference of a circle
with radius 11.2m

C=2vl) H=wL*
C=301m A=28408

Rm——————— z

4. Find the area and circumference of a circle
with diameter of 9in.

=4 ~
C=2xM ) A= w9t
= Q7 U 3.1

am—

5. Given the area of a circle is 50.26 square
meters, find the diameter.

0.2V =Tt

C=Y
(d=8wm)

6. Given the circumference of a circle is 297
, find the radius.

2= I
S o

r‘:‘;ﬁ-:\
2]

7. Given the area of a circle is 256, find the
radius.

2 om=iy *
Y=t

—

8. Given the circumference of a circle is
88cm, find the diameter.

88 : Zmwr A

A’;ZB.O\ c_m.

—————

9. Find the arc length of an arc if the arc
measure is 12° and the radius is 16

12 (27 L)

10. Find the arc length of AB

B 308m

20.8)
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11. Find the arc length and area of the shaded
region.

= 2RSS\

LO (o o - .

)
LS
A=

12. Find the length of JK and the area of the
circle. (JK is the minor arc)

g J  A=8814m? :n-r"(\ )

) 1o\ (e ()
Abm ?e_o?m'

13. Given the arc length of an arc is 9cm and
the central angle is 56° find the area and
circumference of the circle.

AT Aiarlaa)-

25

14. The circumference of a circle is 128in. Find
the arc length of a segment that covers 38°
of the circle and find the circles area.

128 20 |28 -

“Lf 38 =

W= \25

Q= “L’LO"W'
B 2ol WLt

15. What must the diameter of a circle be for
area to be 298.648?

298.MS= Tt
r=41s

A0S

16. If the radius of a circle is 11 units long and
a central angle is 1/5" of the circle, find
the segment length and area of the sector

formed.

A- (1\—. %) =,.0

.

S

17. You are shooting a round paper target
with a naval cannon. If the cannonball is
2 \14” in diameter and the circular paper
rget is 20” in diameter, what is the area
€= %of the paper target left after a direct bulls
eye? (assuming the cannonball makes a

perfect hole)
w10 ()Y

e

18. You are cutting out a perfect square from a
round piece of paper you found in art class.
If the square will have side lengths of 5in,
and the circle has a diameter of 9in, how
much paper are you cutting off (in square

inches) r=4.s

w@us) -2

o —ATr b2.b2-2s
S L™ 26T
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19. Find the area of the shaded region

35m
e

T2 w4f
2304

20. Find the area of the shaded region

|02y

Write the formulas for surface area and volume
of a sphere:

" Ve

21. Find the surface area and volume of a
sphere with radius 8cm.

SA-= Y (@)= 804.2 c~d
V= %wigy

= 2144, o3

22. Find the surface area and volume of a
sphere with diameter 42in.

=2\
A= Yo ===4|.8 i

23. Find the surface area and volume of a
sphere whose great circle circumference
is 207 . = 2
\O=Y

A= Yulo®r = 128, L

-————___—.—
V= Yoqr (203 =287F2 .3
24. Find the'ﬂlameter ofa sphere with surface
804.25 m*

BH. 23> v 2

= 8
A=l v

5[ = Lllg;lﬂ HD\s = &!]ﬁ %
25. If the surface area of a sphere is 367 find

the volume.

26. If the radius of a sphere doubles what
happens to the surface area? Volume?

?sm;‘- l—l C ( 3
L 2) SA:=Y Hmes | o s
5 l y & "/ 3 1"(3) ( Z\ S V S \
Statistics StuffTa Know: . = B Hne
=\\32,\ i AR
—ﬁ—
Mean Median Mode Range Lower Quartile
Upper Quartile Interquartile Raﬁge Population Standard Deviation Sample Standard Deviation
Normal Distribution Empirical Rule Histogram Dot Plot Box Plot Frequency Table
Random Sample Systematic Sample Self-Selected Sample Convenience Sample

Biased vs. Unbiased Margin of Error

Be sure to study your old tests and quizzes!

Correlation Coefficient

(37—Y31.) " \\o[-tr(‘lﬂ



éi S Z According to the Empirical Rule, what percentage of normally distributed data falls within 2 standard

deviations of the mean?
B-95-9197

Z-Sdzzathe following set of normally distributed data, what is the percent of the area under the normal curve
represented by the shaded region?

A gardener calculates that each tomato plant he planted last season produced a mean of 12 pounds of tomatoes with a

standard deviation of 3 pounds. (Assume the data is normally distributed)

3. DRAW AND LABEL the normal curve.
6\o

¢ 9 12 s 18 2
oo’—)S4.Wha3 q

t is the probability that a plant will produce at least 6 pounds of tomatoes?
P e ] )

’ 8\5 5.What is the probability that a plant will produce between 9 and 18 pounds?

@) Mr. Smith manages a store that sells televisions. He made a scatter plot to model the relationship
between the television’s screen size and the sales price.

Which best describes the correlation between the two variables. Television Sizes and Prices

a) r=-1.0 _200[; P <R =y E PNy 458
b) r=0 ; i ;
C =-.22 -150q o
@ 2 = : * J ‘
2 i i ©
o -8@0; s A
»400:

A normal distribution has a mean of 27 with a standard deviation of i 20 3040 50 8070 @
Find the percentage and probability that a randomly selected x- TRISRINIOG SsmicHEn)
from the distribution is in the given interval. (hint: sketch the curve)

02, P(xs17)

UNIT 7: Test

1 22 771 %2y

value



